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Directions (Q.Nos. 16-17) In the following
questions, out of the four alternatives, choose
the one which can be substituted for the given
words/sentence. .
16. A disease which is spread by direct contact
(a) Contagious (b) Infectious
(c) Epidemic (d) Endemic
17. The study of ancient civilizations
(a) History
(b) Anthropology
{c) Enthnology
(d) Archaeology
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Directions (Q.Nos. 18-19) In the following
questions, out of the four alternatives, choose
the one which best expresses the meaning of the

given word.
18. Cajole
(a) Insist (b) Persuade
(c) Flatter (d) Recommend
19. Fragrance
(a) Taste (b) Aroma
(c) Sight (d) Touch

Directions (Q.Nos. 20-21) In the Sfollowing
questions. choose the word opposite in meaning
to the given word.

20. Strife
(a) War
21. Repulsive
(a) Attractive
(c) Distinctive

(b) Peace  (c) Anger (d) Woe
(b) Reflective

(d) Progressive
Directions (Q.Nos. 22-23) In the following
questions, sentences are given with blanks to be
filled in with an appropriale word(s). Four

alternatives are suggested for each question.
Choose the correct alternative out of the four.

22. The sparrows took no ...... the bread.
(a) notice of (b) notice about
(c) notice from (d) notice to

23. He shows great ability ...... Mathematics.
(a) at (b) for (c) about (d)in
Directions (Q.Nos. 24-25) In the Jollowing
questions, groups of four words are given. In

each group, one word is correctly spelt. Find
the correctly spelt word.

.24, (2) Definitely (b) Definately
(c) Definitley (d) Definitly

25. (a) Cemetary (b) Semetary
(c) Cemetery *(d) Cemetry
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